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1 EFfiz > 160 M
1Bz o= 140 M
1 iz > X 220 M
1 KFfic> = 110 1
1 KFfElz>&E 120 1
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1 EFfIC> % 400 M
1 EFfIC> % 400 M
1 BRIz X 230 [




1 K> % 290 19

1 KEfIzH> % 250 19

1 REfIZ> % 190 19
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1 KffEiz> & 160 [
1 Kz > & 240 H
1 iz > % 120 [

1Rl > X 120 M

1 REEIC > 60 [

1 REREIC> X 80 1

1[EINZ>Z 310
AR 12 #e>5 0 3,100 M

1[Ez>% 160 [
B 12 K> 0 1,600 M

1[Ez>% 160 [
B 12 K> 0 1,600 M

1[Ellz>X 330 [
I3 12 #->-5 1 3,300

1[ElcHo% 170 [
%5 12 #->-5 0 1,700

1[ElcHo% 170 [
[ 12 K>3 0 1,700 [

1 [Elco % 260 [
I3 12 #o-5 1 2,600 H

1ENZ>E 760 1
[F#E 12 K> 7,600 H

1{AIZ>% 1,080 1

1Az 700 M

1{AIC>E 1,620 1
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1Elz>x 270 1
[EIE 12 K> 0 2,700

1Az~ % 780 [
[EIE 12 K> 0 7,800

1{HIZ>E 1,100

17Alc>= 720 [

17AlZ>%= 1,650 M
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